PART I

For each of the words in Capital letters, choose from among the answers, the word that is closest in meaning:

(1) PHLEGMAPIC

(A) calm   (B)cryptic   (C) practical  (D) salivary  (E)dishonest

(2) PHYSIOGNOMY

(A) posture   (B) head  (C)physique   (D)face   (E)size

(3) PIEBALD

(A) Motley   (B) coltish  (C) hairless  (D)thoroughbred   (E)delicious

(4) PILLAGE

(A) hoard  (B) plunder  (C) versify  (D)denigrate   (E)confide

(5) PINION

(A) express   (B)report   (C)reveal   (D)submit   (E)restrain

(6) PINNACLE

(A) foot-hills  (B)card game  (C) pass  (D)taunt   (E)peak
(7) PIOUS

(A) historic   (B)devout   (C)multiple   (D) fortunate  (E)authoritative

(8) PIQUE

(A) Pyramid   (B) revolt   (C) resentment   (D) struggle   (E) inventory
(9) PLACATE

(A) determine   (B)transmit   (C)pacify   (D) allow  (E)defying

(10) PLAGIARISM

(A) theft of funds  (B)theft of ideas   (C)belief in God   (D)arson   (E)ethical theory

For each of the words in Capital letters, choose from among the answers, the closest word that has the opposite meaning:

(11) LUGUBRIOUS

(A) transparent  (B)sedulous  (C)soporific   (D)jocose  (E)querulous

(12) ANIMUS

(A) hospitality  (B)probity  (C)anonymity   (D)amity  (E)insularity

(13) FLUSTER

(A) soothe  (B)diminish  (C)strengthen   (D)divert  (E)allow

(14) DELETION

(A) injury  (B)delay  (C)insertion   (D)permission  (E)pollution

(15) DISPARAGE

(A) resemble  (B)eulogize  (C)vacillate   (D)annoy  (E)appear

(16) BALEFUL

(A) meager  (B) beneficent (C) indifferent  (D) uncomfortable (E)original

(17) SERVILITY

(A) resilience  (B)wickedness  (C)independence   (D)righteousness  (E)humility

(18) FELICITOUS

(A) inappropriate  (B)ineffable  (C)irrational   (D)atypical  (E)uncertain

(19) PRECIPITIOUS

(A) cooperative  (B)cautious  (C)inaccurate   (D)formal  (E)simplistic

(20) ASSUAGE

(A) Wane (B) belie (C) worsen   (D) intervene (E) presume
Read the following text.  The passage contains some blank spaces.  Choose the sentence from the list A – I, that best fits in each of the blank spaces.  The numbers in brackets  refer to Question numbers.

At the present time, 98 percent of the world energy consumption comes from stores sources, such as fossil fuels or nuclear fuel. ___E____ Discovery of large additional fossil fuel reserves, solution of the nuclear safety and waste disposal problems, or the development of controlled thermonuclear fusion will provide only a short-term solution to the world’s energy crisis. Within about 100 years, the thermal pollution resulting from our increased energy consumption will make solar energy a necessity at any cost.

Man’s energy consumption is currently about one part in ten thousand that of the energy we receive from the sun. ___C___. If this growth continues, within 100 years our energy consumption will be about  1 percent of the absorbed solar, enough to increase the average temperature of the earth by about one degree centigrade if stored energy continues to be our predominant source. This will be the point at which there will be significant effects in our climate, including the melting of the polar ice caps. A phenomenon which will raise the level of the oceans and flood parts of our major cities. ___E____. As the ice caps begin to melt, the reflectivity will decrease, thus heating the earth still further.

It is often stated that the growth rate will decline or that energy conservation measures will preclude any long-range problem. Instead, this only postpones the problem by a few years. Conservation by a factor of two together with a  maintenance  of the 5 percent growth rate delays the problem by only 14 years. ___D___; in addition, the inequalities in standards of living throughout the world will provide pressure toward an increase in growth rate, particularly if cheap energy is available. The problem of changing climate will not be evident until perhaps ten years  before it becomes critical due to the nature of an exponential growth rate together with the normal annual weather variations. ___B____. 

The only practical means of avoiding the problem of thermal pollution appears to be the use of solar energy. (Schemes to “ air-condition” the earth do not appear to be feasible before the twenty-second century). ______D_________. The cost of solar energy is extremely favourable now, particularly when compared to the cost of relocating many of our major cities.

A. However, it is growing at a 5 percent rate, of which about 2 percent represents a population growth and 3 percent a per capita energy increase.

B. The primary concern is isolating an ambiguity and clarify by definition

C.  There is positive feedback associated with this process, since the polar ice cap contributes to the partial reflectivity of the energy arriving form the sun:

D. Only hydroelectric and wood energy represent completely renewable sources on ordinary time scales.

E. Reduction of the growth rate to 4 percent postpones the problem by only 25 years;

F. The melting of polar ice caps will accelerate the transition to solar energy

G. This may be too short a period to circumvent the problem by converting to other energy sources, so advance planning is a necessity.

H. It is proposed to utilize the hydroelectric and wood energy to replace non- conventional energy sources such as nuclear energy

I. Using the solar energy before it is dissipated to heat does not increase the earth’s energy balance.

Given the widespread acceptance of the image of the ocean depths as serene and undisturbed, it is unsurprising that researchers initially greeted the evidence for powerful deep sea storms and dynamic currents with disbelief. The earliest arguments in sport of the existence of such powerful deep-sea currents were based on models of ocean circulation derived from hydrodynamic theory. Because the density of cold water is greater than that of warm water, cold water tends to sink. Thus near the poles, the chilly water sinks; in theory, this sinking should create powerful, regular deep-sea currents flowing from the poles toward the warm equatorial regions. Over time, investigators have gathered sufficient evidence to confirm the accuracy of this theory. Oceanographic studies have verified that deep-sea currents exist and have demonstrated that, on the western side of the great ocean basins, periodic underwater storms transporting masses of fine sediment that scour the sea  floor. Corroborating these studies, photographs of the seafloor have disclosed the existence of vast graded beds suggesting the active transport of large volumes of silt and clay. Further corroboration had come from an experimental program known as the High _energy Benthic Boundary- Layer Experiment (HEBBLE).

Rather than immediately reporting on findings of the HEBBLE program, let is first take a moment to examine both the sources of deep-sea sediments and the forces that create and energize the global systems of ocean circulation. Two main types of sediments are eventually deposited on the deep-sea floor. The first consist of disintegrated rock fragments, the detritus created by the weathering of rocks on the continents and islands. Borne by river current to the edge of a continent, this rocky debris, mingled with disintegrating vegetable matter, floats out onto the continental shelf, where marine currents carry it further seaward. Once at the edge of the shelf the detritus drifts down, eventually reaching the base of the continental rise. In the subtropics, additional continental material reaches the sea, blown there by strong desert winds. Of the roughly 15 billion tons of terrestrial material carried seaward each year, be far the bulk travels no further than the outlets of rivers and streams. Barely a few billion tons goes beyond the continental shelves to escape into the deep sea.

The second type of sediment deposited on the deep sea floor is composed of shells and skeletons of dead microscopic organisms that exist in the sunlit upper reaches of the world’s oceans. This biological matter adds around three billion tons to the total amount of deep-sea sediment deposited each year. The rate at which biological matter accumulates in the deep depends on the rate at which biological matter is produced; this in turn depends partly on movements of the surface current. Two surface current meet or converge at a so –called zone of convergence. Likewise two surface currents part or diverge at a so-called zone of divergence, which allows nutrient-rich water from the depths to “outcrop” or rise to the sunlit upper reaches. There photosynthesis can take place, and microscopic organisms flourish. Thus, a zone of divergence is a region of high productivity and high rates of accumulation; such zones normally are found along the edges of major currents (e.g. The Gulf stream off New England) and close to the major oceanic fronts (e.g. the region around the Antarctic)

(27)
The primary purpose of the passage is to 

A. contrast surface currents with marine currents

B. question the methods of earlier investigators 

C. demonstrate the benefits of the HEBBLE program

D. describe a replicable laboratory experiment

E. summarize evidence supporting oceanic circulation

(28)
Which of the following best describes the attitude of many scientists when they first encountered the theory that strong currents are at work in the deep sea?

A. somber resignation

B. Measured approbation

C. Marked skepticism

D. Academic detachment

E. Active espousal

(29)
According to the passage, the initial data supporting the idea that the sea depths were turbulent rather than placid came from 

A. underwater photographic surveys

B. the activities of the HEBBLE program

C. analysis of North America sea-bed sediments

D. direct measurements of undersea currents

E. models showing how hot and cold water interact 

(30) This passage most likely would be of particular  interest to 

A. navigators of sailing vessels 

B. students of global weather patterns

C. current passengers on ocean liners

D. designers of sea-floor structures

E. researchers of sea floor structure

(31)
As defined in the passage, the second type of deep sea sediment consist of which 


Of the following?

I. Minute particles of rock

II. Fragmentary shells

III. Wind-blown soil

A. I only

B. II only

C. I and II only

D. I and III only

E. I,II and III

(32)
In the passage the author does all of the following EXCEPT

A. approximate an amount

B. refer to a model 

C. given a concrete example 

D. propose a solution

E. support a theory

PART II

Q1. 
Fill in the missing number in the sequence  

3 
8   
15  
?? 
 35    
48

(a)  30   (b) 18   (c) 24  (d) 26  (e)32

Q2.
In the following series, how many U’s are there such that each U is followed by an C next to it if the C is not followed by a Z next to it. 

U    C    U    Z    Q    M    U    C    Z    M    C    U    C    C    U    Q    M    U    U

C    Q    U    C    Z    C    U    A     M   C    U    C    M

(a)3
(b)2
(c)1
(d)4
(e)6

Q3.
If CSBWF is coded as BRAVE how will QMFBTF be coded?


(a) PLEASE
(b) CENTRAL (c) DISPLAY
(d) SURMISE
(e) DISPLAY

Q4.
Suppose the first and second letters in the word MEASUREMENTS were interchanged, also the third and fourth letters, the fifth and sixth etc.  Print the letter that would then be the twelfth letter counting from the right.

(a) E 

 (b) A

   (c) S

   (d) M
   (e) N

Q5.
In which number system would 1432 represent the decimal number 562?

(a) Base - 6    (b) Base - 8    (c) Base - 7    (d) Base - 5   (e) Base – 9

Q6.
What is the largest prime number that can be stored in an 8-bit word computer?

(a) 211                 (b) 251               (c) 241             (d) 223           (e) 247

Q7.
If n = 10 x 18 x 22, which of the following is NOT an integer?


(a)
n / 132

(b)
n / 110

(c)
n / 45


(d)
n / 20

(e)
n / 49 

Q8.
Which of the following is a power of 3?


a.
6245

b.
6762

c.
6561 


d.
6178

e.
6074

Pick the odd one out

Q9.
(a)
ORACLE

(b)
MVS

(c)
INGRESS


(d)
DB2


(e)        SYBASE

Q10.
(a)
SMTP


(b)
BAAN



(c)
WAP


(d)
HTTP


(e)        ARP

Q11.
The three numbers in brackets represent the length of the sides of a triangle. Which of these does not represent a proper triangle?

(a)
(2m,3m,4m)
(b)
(4m,5m,4m)
(c) 
(3m,4m,5m)

(d) 
(3m,3m,3m)     (e) 
(2m,2m,5m) 

Q12.
The three numbers in brackets in each of the following options represents the number of vertices, the number of edges and the number of faces respectively. Find out which of these represents a solid planar cube?

(a)  (12,8,6)
(b)  (8,6,12) 
(c)  (8,12,6)  (d)  (6,6,6)   (e)  (8,6,8)

Q13.
Which set of data exhibits a higher Standard Deviation?


(a)
1, 0, -1, 1, 0, -1
(b) 
1, 1, 1, 0, 1, 1   (c)
-1, -1, -1, -1, -1, -1

(d)
1, 1, 1, 1, 1, 1

(e)
1, -1, 1, -1, 1, -1 


The three circles below represent the number of people proficient in C, COBOL, JAVA.  Answer the next three questions based on the diagram
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Q14.
How many more (or less) people are proficient in COBOL than people who are proficient in C?


(a) 1
(b)4
(c)3
(d)5
(e)2

Q15.
What percentage of people proficient in JAVA are also proficient in C but not in COBOL?


(a) 17.4 (b) 12
(c) 16
(d) 18
(e) 20

Q16.
What percentages of total people are proficient in all three languages?


(a)3
(b)6
(c)5
(d)7
(e)8

The figure on the left represents status of manpower and the figure on the right depicts qualification wise distribution for 1998
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   Strength (in "00s)
Q17.
Which year has registered the maximum percentage growth?


(a) 1998
(b) 1886
(c) 1994
(d) 1996
(e) 1888

Q18.
What is the average number of people for 1995-1999?

(a) 7700
(b) 6800
(c) 8800
(d) 4800
(e) 7800

Q19
If 10% of people on the rolls in 1998 left the Company, how many fresh hires were made in 1999


(a) 4500
(b) 4900
(c) 4600
(d) 4400
(e) 5400

Q20.
A hypothetical physical quantity is defined as


(Power X Time) / (Velocity X Velocity)


In what fundamental units would this quantity be expressed?


(a)Time
(b) Power
(c) Velocity
(d) Distance
(e) Mass

Q21.
A can copy 50 pages in 10 hours, while A and B together can copy 70 pages in 10 hours. In what time B can copy 26 pages?


(a) 12
(b) 13
(c) 15
(d) 26
(e) 39

Q22.
Which of these matrices is singular




    8        6
          33  -5
             1     0
   
10     12


  A =

            B =

    C =

   D = 



    4        3
           6   -1
             1     2

  3       4


(a)A
(b)B
(c)C
(d)D
(e) None

Q23.
Match the following relationships:


(i)
Mammal – Cow

(1)
Not a type of


(ii)
Television – Conveyance
(2)
Part of


(iii)
Square – Polygon

(3) 
A type of


(iv)
Piston – Engine

(4)
Superset of


(a) i-3,ii-1,iii-4,iv-2
(b) i-4,ii-1,iii-3,iv-2
(c)i-4,ii-1,iii-2,iv-3


(d) i-3,ii-2,iii-1,iv-4
(e) i-1,ii-4,iii-3,iv-2

Q24.
If & stands for doubling and % stands for change of sign what is the value of 

& % & (5)  -  % & % (5)?

(a)30
(b)25
(c) -30
(d)36
(e)27

Q25.
A sequence is defined recursively as



f(0) = 1;
f(1) = -1



f(n) = f(n-1) - f(n-2)


What will be the value of f(6)?


(a)-1
(b)1
(c)2
(d)3
(e)4

Q26.
What curve best suits the following data:

	X
	Y

	0.99
	0.00001

	10.04
	1.02

	99.98
	1.997

	1000
	3.0

	9990
	4.004


(a) y = logn x
(b) y = log10 x  (c) y = ex   (d) y = -log10 x  (e) y = - ex
Q27.
A Two-dimensional array X(7,9) is stored linearly row-wise in a computer's memory. Each element requires 8 bytes for storage of the value. If the first byte address of X(1,1) is  3000, what would be the last byte address of X(5, 8)?

(a)3241
(b)3441
(c)3351
(d)3631
(e)3321

Q28.
Of the four straight lines A,B,C,D find out which pair forms an orthogonal set

 
A: 3x+2y-7 = 0, B: x+y = 0 ,  C: 3y-2x+5  = 0, D: y = 7x+3


(a)AC
(b)AD
(c)BC
(d)BD
(e)CD


Q29.
Evaluate the expression 

M(843,7) + R(3.4) + T(7.7) - R(5.8) where

M stands for Modulo arithmetic, R stands for Round-off operation and T stands for Truncation Operation

(a)5
(b)6
(c) 7
(d)8
(e)3

Q30.
Three independent strategies A, B and C have been initiated for cost cutting in a company producing respectively 25%, 20% and 10% savings. Assuming that they operate independently, what is the net saving achieved?


(a) 34%
(b) 48%
(c) 46% 
(d) 54%
(e) 41%

Q31.
The scores in class exams and final exam of 2 students are given as below:



Class exam

Final exam



3


1.2



3.5


1.45


Find the Class exam score of a student who has scored 6 in the Final exam.


(a)12.6
 (b) 13  (c)10.1  (d)10.6 (e)12.5

Q32.
What equation best describes the curve shown below:


(a)y = tan x
(b) y + 3 = x
(c) y = ex
(d) y = Cos x
(e) x + y = 0

Q33.
The temperature at Mumbai is given by the function: -t2/6+4t+12 where t is the elapsed time since midnight. What is the percentage rise (or fall) in temperature between 5.00 PM and 8.00 PM?


(a) -20.5%
(b) 32 %
(c) 21%
(d) 26%
(e) 28%

Q34.
An aircraft takes off from A (12o N Lat, 80o E Long) at 2.00 AM local time to B (32o N Lat, 40o W Long). If the flying time is 10 hours what is the local time of landing at B?


(a) 5.40 AM
(b) 5.00 AM
(c) 4.00 AM
(d) 7.00AM
(e) 8.00AM

Q35.
Fill in the last row of the following Truth Table:

	A
	0
	0
	0
	0
	1
	1
	1
	1

	B
	0
	0
	1
	1
	0
	0
	1
	1

	C
	0
	1
	0
	1
	0
	1
	0
	1

	( A ( B ) ( C
	
	
	
	
	
	
	
	


Interpret the resulting bit pattern as an integer in an 8-bit computer and write the decimal value.


(a)12
(b)18
(c)16
(d)24
(e) 21

Q36.
A file is transferred from one location to another in 'buckets'. The size of the bucket is 10 kilobytes. The bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.


(a)11.01 N
(b)10.11 N
(c)10.011 N
(d)11.011 N
(e)10.101 N

Q37.
The productivity of a team of programmers is given by the function 

P(N) = 4000 √N, where N is the total strength. Find the percentage change in productivity if the strength of the team is increased by 1%.


(a) 0.75% 
(b) 0.25%
(c) 0.5%
(d) 1%  (e) 2%

Q38. A telephone cable is to be run from a junction point on the bank of a river 900 meters wide to an office that is located 3000 meters downstream on the opposite bank. If the cost of laying cable under water is Rs. 5 per meter and that of laying overhead on land is Rs. 4 per meter, find the point downstream where the cable is to cut across the river.


(a) 450 
(b) 1800
(c) 2800
(d) 2100
(e) 2700

END OF  PART II

PART III

Read the following passages and answer questions under each passage

(1) Seven varsity basketball players are to be honoured at a special luncheon. The players will be seated on the dais along one side of a single rectangular table. 

Adams and Goldberg have to leave the luncheon early and so must be seated at the extreme right end of the table, which is closest to the exit.

Baker will receive the most valuable player’s trophy and so must be in the center chair to facilitate the presentation.

Cooper and D’ Amato, who were bitter rivals for the position of center during the basket ball season, dislike one another and should be seated as far apart as is convenient. 

Edwards and Farley are best friends and want to sit together.

1. Which of the following may not be seated at either end of the table?

(A) Cooper

(B) D’Amato

(C) Goldeberg

(D) Farly

(E) Adams

2. Which of the following pairs may not be seated together?

(A) Cooper and Farley

(B) Baker and D’Amato

(C) Edward and Adams

(D) Goldeberg and D’Amato

(E) Edwards and Cooper

3.  Which of the following pairs may not occupy the seats on either side of Baker?

(A) Farley and D’Amato

(B) D’Amato and Edwards

(C) Edwards and Goldberg

(D) Farley and Cooper

(E) Edwards and Cooper 

4. If neither Edwards nor D’Amato is seated next to Baker, how many different seating arrangements are possible?

(A) 1

(B) 2

(C) 3

(D) 4

(E) 5

(2) Number series questions provide psychologists with a means of testing a person’s ability to determine quantitative patterns. Below are seven number series:

(I) 4, 64, 5, 125, 6, x

(II) 6, 37, 7,  50, 8, 65, 9, x

(III) 5, 25, 125, 7, 49, 343, 9, 81, x

(IV) 9, -7, 18, -18, 31, x

(V) 4, 16, 80, 480, 3360, x

(VI) 25, 24, 22, 19, 15, 10, x

(VII) 100, 81, 64, 49, 36, x

1. In which of the above number series is the third power of a number the determining factor?

(A) I and III

(B) I, IV and V

(C) I, III and VII

(D) II, III and VI

(E) I, III, IV and VII

2. In which of the above number series is it necessary to consider a pattern of three elements?

(A) I

(B) II

(C) III

(D) IV
 (E)        V

3. In which of the above number series is the use of powers of a number NOT a determining factor?

(A) I

(B) II

(C) IV

(D) V

(E) VII

4. In which of the above number series is the determining factor the addition and the subtraction of squares?

(A) II

(B) IV

(C) VI

(D) VII

(E) None

(3) Mr. Pict must accommodate seven tour group passengers in two four-person cabins on the S.S. Gallia. Each passenger in a cabin must be able to converse with atleast one other passenger, though not necessarily in the same language

A, an Etruscan, also speaks Gothic and Hittite

B and F are Hittites and speak only that language.

C, an Etruscan, also speaks Gothic

D and G are Goths and speak only Hittite

E, an Etruscan, also speaks Hittite

Hittites are to share rooms with Goths.

1. Which combination of passengers in one of the cabins will result in a rooming arrangement that satisfies all conditions for both cabins?

(A) B, C, F

(B) D, E, G

(C) A, D, E, G

(D) C, D, E, G

(E) A, B, C, F

2. Which CANNOT be true, given the conditions as stated?

I. C cannot room with A

II. Ant cabin containing three persons must include A

III. E must always room with a Hittite

(A) I only

(B) II only

(C) I and III only

(D) II and III only

(E) I, II and III

3. How many combinations of cabin mates satisfy all conditions?

(A) 2

(B) 3

(C) 4

(D) 5

(E) 6

4. If E objects to sharing a cabin with A, with whom can Mr. Pict place him in order to arrive at an arrangement that satisfies all conditions?

I. D and G, with no fourth cabin mate

II. B and F with no fourth cabin mate

III. C, D and G

(A) I only

(B) II only

(C) I and III only

(D) II and II only

(E) Neither I, II nor III 

� EMBED Word.Picture.8  ���





B.Techs





55%





M.Techs





25%





Ph.Ds





8%





Others





12%





0





20





40





60





80





100





120





140











1999





1998





1997





1996





1995





Y





X









_1048855111.doc


45







16







13







51







12







49







COBOL







JAVA







C







14












